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201 LEt2AH| 58,406 55,406 3,000




A AL
g g EHQ MI| Hel
el MAoIEg el (el &)
SNBSS - MBAY - BES 0 & 24 pJE-T {imE=Eh
02 23223l 16,000 13,000 3,000
OJIH & HEIIAd sX8 Z&E 11,000,000& 11,000 8,000 3,000
MYJISEHelAE 2+ 133,150 154,000 220,850
401 Al&HI LR OHYI 133,150 154,000 220,850
01 Al&HI 133,150 154,000 220,850
OWHEEI| E= Z & 13,800,000& 13,800 15,000 A 1,200
Ox2z Wt B 23 03 0 20,000 220,000
OUEHII= W 2= Z2& 7,500,000 7,500 10,000 A2,500
OerAaa AEI 2= 2 & 7,500,000 7,500 8,000 A 500
O3JIgELd 2= 23 4,650,000 4,650 6,000 A~ 1,350
OFE3ce wH Z & 8,500,000 8,500 20,000 A 11,500
OMIISEMCE =58Z uwi
2% 7,200,000 7,200 10,000 2,800
OYZEl MOoI2E LA 2 & 20,000,000 20,000 25,000 25,000
OJIAH & MIIANE B Z& 45,000,000& 45,000 30,000 15,000
O+=Z8Z ti2ud & HME 2= 9,000 0 9,000
Heags(ogdadn) 197,714 0 197,714
28X E 197,714 0 197,714
gtet= 197,714 0 197,714
802 Ete&t=JIEt 197,714 0 197,714
01 = NEXSEES 142,130 0 142,130
O3L=AH+22 S22/0#HE MM HE (2
008) 3,000 0 3,000
Ox=EAMI 5,615 0 5,615
O&dx= JH3J| 62,955 0 62,955
O334E 30| 1,285 0 1,285
O&EEI0I20H A =& 14,121 0 14,121
Ouz X388 45 0 45
OgUR L¥2 2ol (MBHSHAD|EERY) 1,292 0 1,292
OgLR EHE XA (MSHSHADI|BIEH) 257 0 257
Out2&8 e g4l 1,233 0 1,233
Ot 283 &=l 2,400 0 2,400
OL= 02 E 2 & 2 1,245 0 1,245
OL=UH A =& 4 0 4
Od=dE A3t 17 0 17
OJfel A= stE| 264 0 264
OL=EME 2EE 5 0 5
ORootet RXNE= 150 0 150
Ottt 2AES 880 0 880
OJAHS LS HSAIAS (AE) 62 0 62
OFxZAFZ FHOASL &4 99 0 99
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